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B FEHERT =X 1 5, 855, 226
HEELT = 1 1, 864, 260
BEARRE AT = 1 1,739,100 |B&MA (B RE+ 300 m3
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Rkt A = 1 125,160 | {EmEER (B 1-50) 300 m2
T i S O I BRI
EEEET = 1 468, 600
TA7 7 Ml T X 1 468, 600 | T/E &ML (HE - BRIEH0) 200 m2
RC-40 t=150mm ;
g (I - BIF ) 200 m2
FAEBRIEEAs (20) t=50mm ;
HEKHEEY T = 1 89, 060
T = 1 89, 060 | 7" Vv AN 10 m
PU1-B300-H300
fxfa T = 1 61, 920
feZamm 2 1 61,920 |ARELEEERT vyl 10 n
BB-1-3 (200)
Bh AT L 2 1 1, 709, 950
FRANIBA AT L 2 1 411,200 |3 =} b=p 40 m
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X HHR T = 16, 030 | ¥ fl = R 50 m
A E4E W=15cm JE1. 5mm ;
R T = 145, 400
TE R T = 145,400 |JEHERE (HA) 1,000 m2
SN AL T =Y 222, 480
S BLERESE T Y 222,480 | KEA+-DH 30 1%
HEYE T Y 194, 076
EERUE L T = 67, 248 | &l R 120 m2
TA77 VMRS BEERE 15cm
TE L T =Y 126, 828 | BaEH 18 m3
TAT7IV NS
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T = 308, 800
B EHT = 308, 800 | ZZiEFH G & 1 F2V
[ERANE Xy = 5, 855, 226
B R = 1, 751, 000
BISTI S = 218, 000
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